= AH
N = 0 &8 AFH Y & A AN
20178 E =& 3 5 Uutg|H slUs=
ey R ===
HIM: lUYS AMLFH (Lt 3N/ Uetay)
el Stus 22 (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
Sty = 385,375 388,733 A3,358
SlYS AILUTH (LSS HF/LBHT) 265,575 266,377 A 802
Sty s el 164,575 165,377 A 802
SlUE =OURXMH 29 6,427 6,667 A 240
201 YEre gy 6,427 6,667 A 240
01 AtR 22| H| 2,160 2,400 A 240
QU 2H| (0l AFE ) 2,160 2,400 A 240
— FOXXHE ADERY <
ZA 2,160,000 2,160 2,400 A 240
FOIXHR Dlpr2 5t 96,634 97,196 A 562
301 LBt A2 96,634 97,196 A 562
09 BHALAHI B A2 5,054 5,616 N 562
OSHEEo E9 £ FoARAT S A (MARZ)
2E 5,054,000 5,054 5,616 A 562
HE2AHH| (G S )(JIEH/DIE) 119,800 122,356 A2 ,556
=23l 82,284 84,840 A2 ,556
Jl=2FH| 82,284 84,840 A2 ,556
201 LEre gy 37,434 38,540 A1,106
01 AR 22| H| 24,774 25,880 21,106
O=MEX A(MMEZY) AZF 1,620,000 1,620 1,800 2180
OS2 AH] (0l AFE ) ZA 1,944,000 1,944 2,160 A216
OBt 2 (0 AFE ) 23 1,080,000 1,080 1,200 A120
OAFAE TAFZLULI(0 A=)
AH 540,000 540 600 260
OARZ 26HI (0 &E) 4,500 5,000 A 500
—2A EY ZE 840,000 840 1,000 2160
—ZREH(EY) EY ZA 1,800,000 1,800 2,000 A 200
—T2lH((Ze) EY ZE 540,000 540 600 A B0
—PC 22l 23X 180,000 180 200 A20
— JIEt #=2lH| 23X 540,000 540 600 A B0
OJIEF AFR22IHI (Ol AFR ) Z A 540,000 540 600 260
Og - ==Y 14,550 14,520 30
— 2 x ZE 60,0008 * 1H » 120 7,200 7,140 60
— SR (T BTN AL
ZF 30,0008 * 1H » 245 7,350 7,380 A 30
202 Ol 34,050 34,500 A 450
01 2U 04l 34,050 34,500 A 450
O 0ol (0 &&= 2H) ZH 4,050,000 4,050 4,500 A 450
203 YR =& H| 9,000 10,000 21,000
01 J|Z2IA2ETH| 5,940 6,600 A 660
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